
6

8

10

5

12

31

7

9

2

13

11
4

15

14

18

16

17

17

19

20

REVISIONS

REV AMENDMENTS DRAWN DATE CHECKED

1 ORIGINAL ISSUE APD 13/08/18 JP

ITEM NO PART NO ASC NO DESCRIPTION QTY

1 010-118649CB 118649 Ballast, Sacrum Top 1

2 010-118648CB 118648 Sacrum Bottom Plate 1

3 010-118646CB 118646 Retaining Plate, Pelvic Bone 2

4 010-120706CB 120706 Spinebox, Q10 1

5 010-120707CB 120707 Back Plate, Moulded, Q10 1

6 010-120708CB 120708-1 Shoulder Cover 1

7 010-120709CB 120709 Scapula, Left 1

8 010-120710CB 120710 Scapula, Right 1

9 010-113933CB 113933/1 Pivot Screw 4

10 119872 119872 ISO 10642 FHCS M4 x 12 3

11 115805 115805 ISO 4762 SHCS M5 X 0.8 X 20 2

12 102921 102921 ISO 4762 SHCS M5 X 0.8 X 25 1

13 010-128123CB 128123 Lower Leg Assembly 2

14 010-115497CB 115497 Upper Leg Assembly, Left 1

15 010-115788CB 115788 Upper Leg Assembly, Right 1

16 010-9712CB 114163 Screw, SHSS M8X35, Special 2

17 010-9715CB 114164 Screw, SSNT M8X20, Modified 4

18 113366 120086 ISO 7380 SBHS M8 X 1.25 X 16 2

19 010-121003CB 121003 Side Impact Scapula, Left 1

20 010-121004CB 121004 Side Impact Scapula, Right 1

2018-01

010-122354CB-ISS1SEE INDIVIDUAL 
DRAWINGS

DESCRIPTION:

PART NO.

PROJECT:

SURFACE FINISH:

CHECKED:

DATE:

DRAWN:

THIRD ANGLE
PROJECTION 160202

FINISH:

MATERIAL:

SHEET
1 OF 1

SHEET SIZE

SEE PARTS LIST

SEE INDIVIDUAL 
DRAWINGS

THE CONTENTS OF THIS DOCUMENT MUST NOT BE COPIED 
OR COMMUNICATED TO A THIRD PARTY WITHOUT THE 

WRITTEN PERMISSION OF THE COMPANY

HUNTINGDON, ENGLAND PE29 6EF

C COPYRIGHT 2018

ASC NO.
122354

A3

DRAWN IN ACCORDANCE WITH BS 8888
THIRD ANGLE PROJECTION
DIMENSIONS IN MILLIMETRES
UNLESS OTHERWISE STATED:
  GENERAL TOLERANCES:
  - LINEAR +/- 0.1MM
  - RADIAL +/- 0.2MM
  - ANGULAR +/- 0.5 DEG
REMOVE ALL BURRS AND SHARP EDGES

SCALE:

1:6

DO NOT SCALE

CAD MODEL TAKES PRECEDENCE OVER 
PRINTED DRAWING FOR ALL DIMENSIONS

JP

13/08/18

APD

EURO NCAP Q10 UPGRADE KIT

21 3 4 5 6 7 8

A

B

C

D

E

F

87654321

F

E

D

C

B

A


	Sheet1
	Drawing View1


